(HVCB-M)  BASE : 22.8 KV

L PNL = HVCB-M
2~ BEREE CO sty ------------- Curves Name = CO - HVCB-M
3~ BEE R R AISE oo Maker & Model = Schneider MiCOM P127
4~ BEEE ARAR IR AIAEAE oeeeeeeeeeeeeeeeo-- Standard = IEC
5 IFRZ 4 A= - - - - - - Inverse Time Curves = 1z HF (El)
6~ ZHELAZSE  cmmmmmmmmmmmmmme e S = 12500 KVA
7~ FEEMEETEEER 000 c--e e Vb = 22.8 KV
8 FBEMFEEEIR =~ ---mememme e Ir = 316.5 A
= Al v i L% = 50 %
10 ~ EEFTBSIE R - - - m - mmm e mmmmmmm e e CT = 200 /5A In=5A
11~ PERESEEL - - - - CTtk = 40 =
12 BB T - - e m e Tc = 0.63
13 ~ RIFfRAEAENF AR ----- - - - - - - - > = 063 In = 315 A
14 ~ RESIRAEIAENEERE --------------------- s = 126 A
15 ~ BFiS BRI EE RS --------------------- I>> = 2.75 In = 13.75 A
16 ~ Bk FERSE - -- - I = 550 A
17 ~ ISR ISEEE (TMS ) -------=--mmmmmmmm o - T = 0.029
18 ~ KKIFFRZ BIEIFR --------mmmmmm e - t = 80/((1/1s)2-1)*T
(o) & % % B E R E(A) RIS (1) BYEGR (1)
1 £ x 126 = 126.0 A t = 00 Sec
1.1 £ x 126 = 138.6 A t = 11.048 Sec
1.3 % «x 126 = 163.8 A t = 3.362 Sec
15 £ x 126 = 189.0 A t = 1.856 Sec
17 £ x 126 2142 A t = 1.228 Sec
19 £ x 126 2394 A t = 0.889 Sec
2 fZ x 126 = 252.0 A t = 0.773 Sec
3 fZ& x 126 378.0 A t = 0.290 Sec
4 fZ x 126 = 504.0 A t = 0.155 Sec
5 fZ x 126 = 6300 A t = 0.097 Sec
7 fZ x 126 882.0 A t = 0.048 Sec
9 fZ «x 126 = 1134.0 A t = 0.029 Sec
10 % x 126 1260.0 A t = 0.023 Sec
12 £ x 126 1512.0 A t = 0.016 Sec
15 fZ x 126 1890.0 A t = 0.010 Sec
EkEREE 11T = 550 A t = 0.129 Sec
Bk EER E L1 >> = 550 A t = 0.000 Sec
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( TR-1 2500KVA) BASE : 22.8 KV

L PNL = HVCB-1
2~ BEREE CO sty ------------- Curves Name = CO - HVCB-1
3~ BEE R R AISE oo Maker & Model = Schneider MiCOM P122
4~ BEEE  ARAR IR oo e e Standard = IEC
5 IFRZ 4 A= - - - - - - Inverse Time Curves = 1z HF (El)
6~ ZHELAZSE  cmmmmmmmmmmmmmme e s = 2500  KVA
7~ FEEMEETEEER 000 c--e e Vb = 22.8 KV
8 FBEMFEEEIR =~ ---mememme e Ir = 63.3 A
= Al v i L% = 100 %
10 ~ EEFTBSIE R - - - m - mmm e mmmmmmm e e CT = 100 /5A In=5A
11~ PERESEEL - - - - CTtk = 20 =
12 BB T - - e m e Tc = 0.63
13 ~ RIFfRAEAENF AR ----- - - - - - - - > = 063 In = 315 A
14 ~ RESIRAEIAENEERE --------------------- s = 63 A
15 ~ BFiS BRI EE RS --------------------- I>> = 3.5 In = 175 A
16 ~ Bk FERSE - -- - I = 350 A
17 ~ ISR ISEEE (TMS ) -------=--mmmmmmmm o - T = 0.052
18 ~ KKIFFRZ BIEIFR --------mmmmmm e - t = 80/((1/1s)2-1)*T
(o) & % % B E R E(A) RIS (1) BYEGR (1)
1 £ x 63 = 63.0 A t = oo  Sec
1.1 £ x 63 = 69.3 A t = 19.810 Sec
1.3 % «x 63 = 819 A t = 6.029 Sec
15 & x 63 = 945 A t = 3.328 Sec
17 £ x 63 1071 A t = 2.201 Sec
19 £ x 63 119.7 A t = 1.594 Sec
2 fZ x 63 = 126.0 A t = 1.387 Sec
3 fZ& x 63 189.0 A t = 0520 Sec
4 fZ x 63 = 2520 A t = 0.277 Sec
5 fZ x 63 = 3150 A t = 0173 Sec
7 fZ x 63 4410 A t = 0.087 Sec
9 fZ «x 63 = 567.0 A t = 0.052 Sec
10 % x 63 630.0 A t = 0.042 Sec
12 £ x 63 756.0 A t = 0.029 Sec
15 £ x 63 9450 A t = 0.019 Sec
EkEREE 11T = 350 A t = 0.139 Sec
Bk EER E L1 >> = 350 A t = 0.000 Sec
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(TR-2 2500KVA) BASE : 22.8 KV

L PNL = HVCB-2
2~ EEE R EEE CO s st ------------- Curves Name = CO- ]
3~ BEE R R AISE oo Maker & Model = Schneider MiCOM P122
4~ BEEE  ARAR IR oo e e Standard = IEC
5 IFRZ 4 A= - - - - - - Inverse Time Curves = 1z HF (El)
6~ ZHELAZSE  cmmmmmmmmmmmmmme e s = 2500  KVA
7~ FEEMEETEEER 000 c--e e Vb = 22.8 KV
8 FBEMFEEEIR =~ ---mememme e Ir = 63.3 A
= Al v i L% = 100 %
10 ~ EEFTBSIE R - - - m - mmm e mmmmmmm e e CT = 100 /5A In=5A
11~ PERESEEL - - - - CTtk = 20 =
12 BB T - - e m e Tc = 0.63
13 ~ RIFfRAEAENF AR ----- - - - - - - - > = 063 In = 315 A
14 ~ RESIRAEIAENEERE --------------------- s = 63 A
15 ~ BFiS BRI EE RS --------------------- I>> = 3.5 In = 175 A
16 ~ Bk FERSE - -- - I = 350 A
17 ~ ISR ISEEE (TMS ) -------=--mmmmmmmm o - T = 0.052
18 ~ KKIFFRZ BIEIFR --------mmmmmm e - t = 80/((1/1s)2-1)*T
(o) & & % B E R E(A) RIS (1) BYEGR (1)
1 £ x 63 = 63.0 A t = oo  Sec
1.1 £ x 63 = 69.3 A t = 19.810 Sec
1.3 % «x 63 = 819 A t = 6.029 Sec
15 & x 63 = 945 A t = 3.328 Sec
17 £ x 63 1071 A t = 2.201 Sec
19 £ x 63 119.7 A t = 1.594 Sec
2 fZ x 63 = 126.0 A t = 1.387 Sec
3 fZ& x 63 189.0 A t = 0520 Sec
4 fZ x 63 = 2520 A t = 0.277 Sec
5 fZ x 63 = 3150 A t = 0173 Sec
7 fZ x 63 4410 A t = 0.087 Sec
9 fZ «x 63 = 567.0 A t = 0.052 Sec
10 % x 63 630.0 A t = 0.042 Sec
12 £ x 63 756.0 A t = 0.029 Sec
15 £ x 63 9450 A t = 0.019 Sec
EkEREE 11T = 350 A t = 0.139 Sec
Bk EER E L1 >> = 350 A t = 0.000 Sec
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( TR-3 2500KVA) BASE : 22.8 KV

L PNL = HVCB-3
2~ BEREE CO sty ------------- Curves Name = CO - HVCB-3
3 EEE R R AR - e e Maker & Model = Schneider MiCOM P122
4~ BEEE ARAR IR AIAEAE oeeeeeeeeeeeeeeeo-- Standard = IEC
5 RHFIEZ BR4RHEIT, - - m e - Inverse Time Curves = #FRSZHF (El)
6~ BEEREHE ELE AR ~ - mmm e e e TR = 2500 KVA
7 BERAGEENEERE - Vb = 228 KV
8 - BERGREEMEHEER ------------ - Ir = 63.3 A
9 BESEHEE - L% = 100 %
10 ~ EEFTBSIE R - - - m - mmm e mmmmmmm e e CT = 100 /5A In=5A
11~ LRy ------- - CTtE = 20 &
12 v BT S ET —o oo e e Tc =  0.633
13~ RESFRAEEENEFERIEE -------------mmmmmm - - 1> = 0.64 In = 32 A
14 ~ REFIREHREEERE --------------------- s = 64 A
15 ~ IS B IRENE R ------ - - - I>> = 35 In = 175 A
16 ~ Bl BAR BN FEEREEE - === m - T = 350 A
17 ~ RESTRZHFREE (TMS) ------------mmmmmmm- - T = 0.052
18 ~ HFIR ZBNERFR -----mmmmmmmm e t = 80/((I/1s)y2-1)*T
(o) & % % B E R E(A) RIS (1) BYEGR (1)
1 & x 64 = 64.0 A t = oo Sec
1.1 & x 64 = 704 A t = 19.810 Sec
1.3 f& «x 64 = 83.2 A t = 6.029 Sec
1.5 f& x 64 = 96.0 A t = 3.328 Sec
1.7 & x 64 108.8 A t = 2201 Sec
1.9 f& x 64 1216 A t = 1.594 Sec
2 fZ x 64 = 128.0 A t = 1.387 Sec
3 & x 64 192.0 A t = 0520 Sec
4 fZ x 64 = 256.0 A t = 0.277 Sec
5 & x 64 = 3200 A t = 0173 Sec
7 & x 64 448.0 A t = 0.087 Sec
9 fZ& «x 64 = 576.0 A t = 0.052 Sec
10 % x 64 640.0 A t = 0.042 Sec
12 % x 64 768.0 A t = 0.029 Sec
15 % x 64 960.0 A t = 0.019 Sec
Rk RSE 11T = 350 A t = 0.144 Sec
WEPMIFREREE 1 >> = 350 A t = 0.000 Sec
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(TR-4 2500KVA) BASE : 22.8 KV

L PNL = HVCB-4
2~ BEREE CO sty ------------- Curves Name = CO - HVCB-4
3 EEE R R AR - e e Maker & Model = Schneider MiCOM P122
4~ BEEE ARAR IR AIAEAE oeeeeeeeeeeeeeeeo-- Standard = IEC
5 RHFIEZ BR4RHEIT, - - m e - Inverse Time Curves = #FRSZHF (El)
6~ BEEREHE ELE AR ~ - mmm e e e TR = 2500 KVA
7 BERAGEENEERE - Vb = 228 KV
8 - BERGREEMEHEER ------------ - Ir = 63.3 A
9 BESEHEE - L% = 100 %
10 ~ EEFTBSIE R - - - m - mmm e mmmmmmm e e CT = 100 /5A In=5A
11~ LRy ------- - CTtE = 20 &
12 v BT S ET —o oo e e Tc =  0.633
13~ RESFRAEEENEFERIEE -------------mmmmmm - - 1> = 0.64 In = 32 A
14 ~ REFIREHREEERE --------------------- s = 64 A
15 ~ IS B IRENE R ------ - - - I>> = 35 In = 175 A
16 ~ Bl BAR BN FEEREEE - === m - T = 350 A
17 ~ RESTRZHFREE (TMS) ------------mmmmmmm- - T = 0.052
18 ~ HFIR ZBNERFR -----mmmmmmmm e t = 80/((I/1s)y2-1)*T
(o) & % % B E R E(A) RIS (1) BYEGR (1)
1 & x 64 = 64.0 A t = oo Sec
1.1 & x 64 = 704 A t = 19.810 Sec
1.3 f& «x 64 = 83.2 A t = 6.029 Sec
1.5 f& x 64 = 96.0 A t = 3.328 Sec
1.7 & x 64 108.8 A t = 2201 Sec
1.9 f& x 64 1216 A t = 1.594 Sec
2 fZ x 64 = 128.0 A t = 1.387 Sec
3 & x 64 192.0 A t = 0520 Sec
4 fZ x 64 = 256.0 A t = 0.277 Sec
5 & x 64 = 3200 A t = 0173 Sec
7 & x 64 448.0 A t = 0.087 Sec
9 fZ& «x 64 = 576.0 A t = 0.052 Sec
10 % x 64 640.0 A t = 0.042 Sec
12 % x 64 768.0 A t = 0.029 Sec
15 % x 64 960.0 A t = 0.019 Sec
Rk RSE 11T = 350 A t = 0.144 Sec
WEPMIFREREE 1 >> = 350 A t = 0.000 Sec
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( TR-5 2500KVA) BASE : 22.8 KV

L PNL = HVCB-5
2~ BEREE CO sty ------------- Curves Name = CO - HVCB-5
3 EEE R R AR - e e Maker & Model = Schneider MiCOM P122
4~ BEEE ARAR IR AIAEAE oeeeeeeeeeeeeeeeo-- Standard = IEC
5 RHFIEZ BR4RHEIT, - - m e - Inverse Time Curves = #FRSZHF (El)
6~ BEEREHE ELE AR ~ - mmm e e e TR = 2500 KVA
7 BERAGEENEERE - Vb = 228 KV
8 - BERGREEMEHEER ------------ - Ir = 63.3 A
9 BESEHEE - L% = 100 %
10 ~ EEFTBSIE R - - - m - mmm e mmmmmmm e e CT = 100 /5A In=5A
11~ LRy ------- - CTtE = 20 &
12 v BT S ET —o oo e e Tc =  0.633
13~ RESFRAEEENEFERIEE -------------mmmmmm - - 1> = 0.64 In = 32 A
14 ~ REFIREHREEERE --------------------- s = 64 A
15 ~ IS B IRENE R ------ - - - I>> = 35 In = 175 A
16 ~ Bl BAR BN FEEREEE - === m - T = 350 A
17 ~ RESTRZHFREE (TMS) ------------mmmmmmm- - T = 0.052
18 ~ HFIR ZBNERFR -----mmmmmmmm e t = 80/((I/1s)y2-1)*T
(o) & % % B E R E(A) RIS (1) BYEGR (1)
1 & x 64 = 64.0 A t = oo Sec
1.1 & x 64 = 704 A t = 19.810 Sec
1.3 f& «x 64 = 83.2 A t = 6.029 Sec
1.5 f& x 64 = 96.0 A t = 3.328 Sec
1.7 & x 64 108.8 A t = 2201 Sec
1.9 f& x 64 1216 A t = 1.594 Sec
2 fZ x 64 = 128.0 A t = 1.387 Sec
3 & x 64 192.0 A t = 0520 Sec
4 fZ x 64 = 256.0 A t = 0.277 Sec
5 & x 64 = 3200 A t = 0173 Sec
7 & x 64 448.0 A t = 0.087 Sec
9 fZ& «x 64 = 576.0 A t = 0.052 Sec
10 % x 64 640.0 A t = 0.042 Sec
12 % x 64 768.0 A t = 0.029 Sec
15 % x 64 960.0 A t = 0.019 Sec
Rk RSE 11T = 350 A t = 0.144 Sec
WEPMIFREREE 1 >> = 350 A t = 0.000 Sec
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